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Grade 9                                   Number Theory                        09/09/10

Solve the following in your notebook:

1) Express the following numbers in the standard form.
(i) 31865000000 

(ii) 0.00008376

(iii) 98700000000000000000000000000000000

(iv) 0.00000000000000012

(v) Mass of electron is 0.00000 00000 00000 00000 00000 00000 9109 kg.

(vi) Mass of   Neutron is 0.00000 00000 00000 00000 00000 01675 kg. 

(vii) Avogadro’s number is 602213670 00000 00000 00000 /mol

2) In a hostel of 50 girls, there are food provisions for 40 days. If 30 more girls join the hostel, how long this provisions last?

3) A certain project can be completed by 5 workers in 24 days.  In order to finish the project sooner, the company plans to hire additional workers.  How many workers are needed to finish the project in 15 days?
4)     (a)  Write down the next two terms in the sequence



7,  10,  15,  22,  …….









         (b)  Write down the next term and the 50th term in the sequence
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(c)   Write down the next two terms and find an expression for the 
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th term in the sequence


17,  13,  9,  5,  …….






]

5) Here are some patterns made from matchsticks:
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(a)
Draw Pattern number 4.

(b)
Complete this table for the pattern sequence

	Pattern number
	1
	2
	3
	4
	5

	Number of matchsticks used
	4
	7
	10
	
	


(c)
How many matchsticks are used in pattern number 15?


Asif says that if there are m matchsticks in pattern number n then the formula for m in terms of n is m = 4n.

(d)
Explain why Asif’s formula is not correct.

6) Write these five fractions in order of size.
Start with the smallest fraction.
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(b)
Write these numbers in order of size.
Start with the smallest number.


65%
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0.72
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7) A girl’s height is given as 162 cm to the nearest centimeter.
           (a) Work out the lower and upper bounds within which her height can lie

           (b) If the girl’s height is h cm, express this range as an inequality.

8) A boy’s mass was measured to the nearest 0.1 kg. If this mass was recorded as 58.9 kg,    express the range within which it must lie.

9) The circumference c of a tree is measured to the nearest 2mm. if its circumference is measured as 245.6 cm, express the range within which it must lie.

10) A vet weighs a sick goat at 37 kg to the nearest kg. What is the least possible weight of the goat?
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